=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

delta46_12X4eY:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

alpha4b_4ey4ay

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

alpha46_4eY4aY:cyclenum {run == 8350}

11294 112945 11295 112955 11296

cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 8350}

P IR PR SR AR
11294 11294.5 11295 11295.5 11296
cyclenum

segment:cyclenum {run == 8350}
Lo iy b iy iy
11294 11294.5 11295 11295.5 11296
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 8350}

_..E ................... * ......................
P PR BT AR R
11294 11294.5 11295 11295.5 11296
cyclenum

usl_4eY:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296
cyclenum

usl_12X:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296

cyclenum

usl_sex

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

usl_4eX:cyclenum {run == 8350}

[

11294 11294.5 11295 11295.5 11296
cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 8350}

_..E ................... * ......................
P PR BT AR R
11294 11294.5 11295 11295.5 11296
cyclenum

usr_4eY:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296
cyclenum

usr_12X:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296

cyclenum

usr_aex

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

usr_4eX:cyclenum {run == 8350}

[

PR PPN AP AP
11294 11294.5 11295 11295.5 11296
cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296

cyclenum




usi_cont

2980.2
2980.4 |
2980.6 |
2980.8 |
-2981F
2081.2 F
2981.4 F
2981.6
29818
-2082F
2982.2 F

2982.4

usl_caoill:cyclenum {run == 8350}

[
T

] SO S A A

11294 11294.5 11295 11295.5 11296
cyclenum

usl_caoil6:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

[

usl_cols

0.5

2552.4

25652.2

2552 F

2551.8 F

2551.6

2551.4

2551.2

2551

2550.8

2550.6

2550.4 F

2550.2

usl_coil3:cyclenum {run == 8350}

11294

112945

11295

112955

11296
cyclenum

usl_coil7:cyclenum {run == 8350}

11294

112945

11295

11295.5

11296
cyclenum

[

usl_coll4

05

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

usl_coil4:cyclenum {run == 8350}

P S RPN AP
11294 11294.5 11295 11295.5 11296
cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296
cyclenum




=

usI_cont

0.5

usr_coill:cyclenum {run == 8350}

11294 11294.5 11295 112955 11296

cyclenum

usr_coil6:cyclenum {run == 8350}

3007.5

-3008

3008.5

-3009

3009.5

11294 112945 11295 11295.5 11296
cyclenum

[

usr_col3

0.5

4058.8

4058.6

1058.4

4058.2

34058

4057.8

4057.6

1057.4

4057.2

34057

4056.8F

4056.6

usr_coil3:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296
cyclenum

usr_coil7:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296

cyclenum

usr_coll4
=

05

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

usr_coil4:cyclenum {run == 8350}

P S RPN AP
11294 11294.5 11295 11295.5 11296
cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296
cyclenum




1A_CONL

4EA_CUIL

0.5

1X_coill:cyclenum {run == 8350}

=

11294 11294.5 11295 112955 11296

cyclenum

4eX_coill:cyclenum {run == 8350}

=

11294 112945 11295 11295.5 11296
cyclenum

1X_cols

4eXx_colls

0.5

[

1X_coil3:cyclenum {run == 8350}

[

11294 112945 11295 112955 11296

cyclenum

4eX_coil3:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296
cyclenum

254.4

1254.2 F
254 F
253.8F

253.6 F

253.4

253.2

253

252.8

252.6

252.4

252.2

259

258.5

257.5

257

1X_coil7:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296

cyclenum

4eX_coil7:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296

cyclenum




4ay_cona
=

4ev_cona
=

4aY_coild:cyclenum {run == 8350}

L
11294 11294.5 11295 11295.5 11296
cyclenum

4eY_coil4:cyclenum {run == 8350}

L L METETE B
11294 11294 11295 11295.5 11296
cyclenum

-107

-107.5

-108

-108.5

-109

-136.2 F

-136.4

-136.6 F

-136.8

-137

-137.2F

-137.4F

-137.6

-137.8

-138

-138.2

-138.4

4aY_coil6:cyclenum {run

== 8350}

11294

1
11294.

1
11295

1
112955

11296
cyclenum

4eY_coil6:cyclenum {run == 8350}

11294

112945

11295

11295.5

11296
cyclenum

-48.4

-48.6 F

-48.8

-49.2F

-49.4
-49.6

-49.8

-42.5

-43.5

4aY_coil7:cyclenum {run == 8350}

TR AT L
11294 11294.5 11295 11295. 11296
cyclenum

4eY_coil7:cyclenum {run == 8350}

PR PPN AP AP
11294 11294.5 11295 11295. 11296
cyclenum




LZA_CunL

12X_coilé

12X_coill:cyclenum {run == 8350}

=

0.5

8

7.5

11294 11294.5 11295 112955 11296

cyclenum

12X_coil6:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296
cyclenum

12X_coil3
=

0.5

-514

-514.5

-515

-515.5

-516

12X_coil3:cyclenum {run == 8350}

11294 112945 11295 112955 11296

cyclenum

12X_coil7:cyclenum {run == 8350}

11294 112945 11295 11295.5 11296

cyclenum

12X_coll4
=

05

8352

3351.5

8351

3350.5

8350

3349.5

8349

3348.5

8348

12X_coil4:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296

cyclenum

run:cyclenum {run == 8350}

11294 11294.5 11295 11295.5 11296
cyclenum
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